


ABBSOFT COMPUTERS

UNIX & Shell Programming
1. The part of the UNIX that manages the hardware and executing processes is called the____________.

a. Shell

b. Kernel

c. Operating System

d. None of the above

2. _______________ command takes any character from standard input and then echoes on them to standard output.

a. cat

b. print 

c. echo

d. write

3. _____________ is the value used for control character stop.

a. ^s

b. ^d

c. ^q

d. ^h

4. An executing application is called _____________

a. Program

b. Entity

c. Process

d. None of the above

5. All UNIX commands and file references are ______________

a. uppercase

b. Case sensitive

c. Lower case

d. None of the above

6. Which is the common key item throughout the UNIX

a. Single Orthogonal Commands

b. Commands Connected through pipes

c. No file types 

d. All of the above

7. Help about a command can be found in the 

a. Man

b. Human pages

c. Help page

d. Any of the above

8. The Unix command rm –r project will

a. Delete the file project from the current directory

b. Delete all the files from the directory project

c. Recursively delete the directory project and all its sub directories

d. None of the above

9. Several unix command can be given on the same line by separating them with characters

a. ;

b. :

c. ,

d. None of the above

10. The unix command “ls | more “ display a list of

a. Files in the current directory one line at a time

b. Files in the current directory one screen at a time

c. All the files in the current directory and the waits for the next command

d. None of the above

11. The chown command in unix changes the 

a. Home directory of a user

b. Access permission of a file or directory

c. Priority of a process

d. None of the above

12. The chmod command in unix

a. Changes the current execution status from user mode to kernel mode

b. Makes the file hidden so that it cannot be seen using the ls command

c. Changes the access permission of a file or directory

d. None of the above

13. Which out of the following commands would you use to change your password in unix system?

a. Pass

b. Chpass

c. Passwd

d. Set pass

14. To see first 3 lines of a file,we give the command 

a. Tail +3

b. Tail –3

c. Head –3

d. Head +3

15. The zz command is used to 

a. Abort a vi session

b. Move the contents of a file to another file

c. Saves the fileand remains in editing mode

d. Quit vi editor after saving

16. The default shell which is to be used is given in the

a. /etc/passwd file

b. .exrc file in home directory

c. /ect/shell file

d. None of these

17. To move to the end of a line you have to use.

a. $

b. E

c. e

d. ^

18. We can paste a deleted line using the command.

a. Y

b. Cp

c. P

d. None of the above

19. The default program sh in UNIX  os is

a. sh

b. Bourne shell

c. Csh

d. Ksh
20. In unix ,the command to redirect the output of a program to a file called sort.out is

a. Sort sort.out

b. Sort>sort.out

c. Sort->sort.out

d. None of the above

21. __________is the standard file system of LINUX. It uses a block size of 1024 bytes. And uses multiple superblocks and symbolic links

a. ext2

b. Msdos or pcfs

c. Bfs

d. Proc

22. This command is used to create, delete and activate partitions

a. Fcreate

b. Part

c. mkfs

d. fdisk
23. Which of the following is the most common discrepancies that could lead to file system corruption.

a. Two or more in odes claiming the same disk block.

b. A block marked as free but not listed in the superblock

c. A used block marked as free.

d. All of the above
24. __________ is the process of starting up a computer from a halted or powered down condition. 

a. Powering

b. Startup

c. Bootstrapping
d. None of the above

25. The path to the Kernel is _________ dependent

a. Vendor

b. Shell

c. Operating system

d. None of the above

26. ________ is used to create the message queue

a. msgcreate()

b. msgget()

c. msgstart()

d. none of the above

27. Its  access point is a file kept on the system.

a. Named pipe

b. Messege queue

c. Semaphores

d. Shared memory

28. The current directory can be referred to by the character 

a. .

b. ;

c. .

d. ..

29. __________ command is used to create a shortcut called linkname 

a. ln –h filename linkname

b. ln -s filename linkname

c. ln –l filename linkname

d. ls –h filename linkname

Ans B

30. grep stands for

a. Gobally search Regular Expression

b. General Regualr Expression Print

c. General Regular & Extended expression Print

d. None of the above

31. __________ is a variant of grep that supports more sophisticated  regular expression

a. egrep

b. sgrep

c. rgrep

d. ngrep

32. _________ command is used to split the files in to smaller files

a. break

b. cut

c. split

d. none of the above

33. ___________ is a filter used to cut or pick up a given number of character or  fields from the specified file

a. uniq

b. split

c. break

d. cut

34. ____________ performs basic text transformations on input stream

a. sed

b. ved

c. awk

d. None of the above

35. The _______command is used to determine your local node name as  well as the names of all uucp systems that are immediately known to your system.

a. uucp

b. uuto

c. uuname

d. scp

36. The ____________ is a priviledged user who has unrestricted access to all commands and files on a system regardless of their permission.

a. Effective user

b. Real User

c. Super User

d. All of the above

37. The schedule & corresponding commands are stored in the file /etc/crontab

a. /etc/crontab

b. /bin/crontab

c. /sh/bin/crontab

d. /bin/bash/crontab

38. ______ operator is used  the files to redirect the stdout, create new

a. >>

b. <

c. >>

d. <<

39. This causes the shell to perform conditional execution of pipelines 

a. &&

b. &

c. ||

d. >

40.  ${…} substitute 

a. shell command output

b. quote enclosed characters except  the quote marks

c. Shell variables

d. None of the above

2 Marks 

41. A messege queue can be either _______ or_____

a. Private, public

b. Hidden, readonly

c. Archieve, readonly

d. Saved, draft

42. If egrep was given the regular expression ‘(^[0-9]{a-z, A-Z]+$})|none, It would match any line that either

1. Begins with a number which must be five digits long, with no seuenceof characters

2. Contains the word none

3. Must contains a single character

4. Begins with a number up to five digits long, followed by  a sequence of one or more letters or spaces,

5. Must not contain any space

a. 1,2,3

b. 1,3,5

c. 3, 5

d. 2, 4

43. UUCP provides several services

1. Exchanging only files

2. Exchanging mails

3. Determining your local node name.

4. Determining server node name

5. Executing commands on a remote UNIX system with the UUX command and non-UUCP,CU and tip commands

6. Transferring files between UNIX sites using  uuto, uupick & UUCP.

a. 2, 3, 5,6

b. 1,2,3,4

c. 1,3,4,5

d. 1,4,6

44. The unmount command requires either _________ or ____________ as argument 

a. File descriptor, device name

b. File descriptor, mount point 

c. File system name, file descriptor

d. File system name, the mount point

45. True/False

1. A pipe is a two-way communication that allows two related process via same pipe

2. A pipe is a one way communication, that allows two related process.

3. If we want two-way communication we’ll need two pipes

a. 1,2,3

b. 1,2

c. 2,3

d. 1,3

46. True/False

1. A semaphore is a resource that contains an integer value, and allows processes to synchronize by testing and setting this value in a single atomic operation.

2. Creation of semaphore set is done using the system call semcreate()

a. Both are True

b. Both are False

c. 1 is true

d. 2 is true

47. Which of the following are the discrepancies that could lead to file system corruption:

1. Two or more in odes claiming the same disk block

2. A block marked as free but not listed in the userblock

3. A block marked as free but not listed in the superblock.

4. A used block marked as free.

a. 1,2,3

b. 2,3

c. 1,3

d. 1,3,4                                                                                      

48. You can logout using command

1. Exit

2. Quit

3. Signout

4. Logout

a. 1,2

b. 1,3

c. 1,4

d. 2,3

49. True/False

1. The Korn shell is a derivative of the bourne shell, which adds history and command-line editng

2. The Born again shell is less common

a. Both 1, 2 true

b. 1 is true

c. 2 is true

d. Both are false

50. True/False

1. emacs editor is a standard UNIX system utility

2. vi is a display oriented text editoe based on an underlying line editor called ex

a. Both are true

b. Both are false

c. 1 is true

d. 2 is true                          
51. Two network routing utilites are 

a. rlogin, login

b. telnet, login

c. ping, traceroute

d. ssh, ping

52. State True/False 

1. finger will list the user logged into a machine 

2. who will print the detail description of the user who logged in to the machine.

a. 1, 2 are true

b. 1 is true

c. 2 is true

d. 1, 2 are false

53. True/ false

1. The input mode is activated by typing i

2. The command mode is activated is by typing key E

a. Both are True

b. 1 is true

c. 2 is true

d. Both are false

54. State true /false

1. The general class of files is called rc files.

2. The dot files are not displayed during normal directory listing.

a. Both are true

b. Both are false

c. 1 is true

d. 2 is true

55. ________ and  ______ process continue from the same place in the code where the fork() call was used

a. brother, sister

b. father, mother

c. parent, child

d. None of the above

56. In the duration before the parent’s acknowledgement and after the child’s exit the ______process in the a state called__________-

a. Child, exit

b. Parent, zombie

c. child, zombie

d. Parent, exit

57.  Identify the attributes which affect the execution of the process

a. PPID, PID, UUID, GID, EUID

b. GUID, PID

c. PPID, PUID, PSID

d. GPID, GUID

58. State true/ false

1. Process under Unix consist of an address space and a set of structures in the kernel to keep track of that process.

2. The address space is a section of memory that contains the code execute as well as the process stack

a. Both are true

b. Both are false

c. 1 is true

d. 2 is true

59. Two types of operations can be carried on a semaphore is 

a. Wait & Signal

b. Wait & Exit

c. Wait & go

d. Exit & Signal

60. _______________ is the display oriented text editor based on an underlying line editor called _________

a. emacs, ex

b. emacs, vi

c. vi, ex 

d. None of the above
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61. Match the following

1. Wildcard 
1.
May be upto 255 character and may 



include any character except the regular 



slash /

2.  Filenames
2.
Pathname beginning with / 

3. Absolute Path
3. 
Character that refer to a character and 



character string 

4. Directory Shortcuts
4.
Includes as replacement for your home 



directory username as a shorthand for 



username’s home directory.

a. 1-2, 2-4, 3-3, 4-1

b. 1-3, 2-1, 3-2, 4-4

c. 1-2, 2-3, 3-4, 4-1

d. 1-3, 2-2, 3-3, 4-1

3. The kernel mode has 4 major components:

a. System calls, file subsystem, hardware control, s/w components.

b. System calls, File subsystem, process control subsystem, hardware control.  

c. All of the above.

d. None of the above.

62. Arrange in the order of occurrence of Fsck check conducts

1. Looks for unreferred directories and stores their files in/lost found for alter examination. The files here are named after their inode numbers.

2. Validates the inodes for correctness of format and the block numbers for bad and duplicate blocks.

3. Fsck’s free-block count is compared with the figure maintained in the superblock. A salvage operation may be carried out with the user’s approval, which will replaces the errorneous free block list with a newly computed one.

4. Checks the link count a stored in the inode with the directory entries, and prompts for the file’s removal or reconnection depending on the extent of damage caused fsck then compares the free inode count it computes with the figure stored in the superblock.

5. Checks all directory entries Starting from root, for OUT OF RANGE inode nos detected. 

a. 1, 2, 3, 4, 5

b. 2, 3, 1, 4, 5

c. 2, 5, 1, 4, 3

d. 2, 4, 1, 3 ,5

63. Match the following:

1. Ordinary Files
1.
It is a pointer to another file

2. Directories
2.
It contains text, data or program 



information.

3. Devices
3.
These are the containers or folders that hold 



files, and other directories.

4. Links
4.
It provide applications with easy access 



to hardware devices.

a. 1-2, 2-4, 3-3, 4-1

b. 1-1, 2-2, 3-3, 4-4

c. 1-2, 2-3, 3-4, 4-1

d. 1-3, 2-2, 3-3, 4-1

64. Match the following according to mappings of permission onto their corresponding Octal digits:

1. ---
1.
0

2. --x
2.
1

3. –w-
3.
2


4. –wx
4.
3

5. r--
5. 
4

6. r-x
6. 
5

7. rw-
7.
6

8. rwx
8.
7

a. 1-2, 2-4, 3-3, 4-1, 5-8,6-7, 7-5, 8-6

b. 1-1, 2-2, 3-3, 4-4, 5-5,6-6,7-7,8-8

c. 1-5, 2-3, 3-7, 4-1, 5-6, 6-8, 7–2, 8-4

d. 1-3, 2-6, 3-7, 4-4, 5-1,6-8, 7-5, 8-2

65. Match the following

1. Redirecting stdout
1. These are the means of interconnecting 



commands together

2. Redirecting stderr
2.
This is associated with file descriptor2, 



and by default goes to the console 

3. Pipelines
3. 
Any command line can be placed within 



back quotation marks so that the output 



of the command replaces the quoted 



command line itself

4. Command Substitution
4.
This is associated with file descriptor 1, 



and by default goes to the console

a. 1-2, 2-4, 3-3, 4-1

b. 1-1, 2-2, 3-3, 4-4

c. 1-4, 2-2, 3-1, 4-3

d. 1-3, 2-2, 3-3, 4-1

66. Match the following for the system call msgrcv()

1. int msgid
1.
A Logical ‘or’ combination of any of the 



following flags

2. int msgsz
2.
size of largest message text we wish to 



receive. Must not be larger than the 



amount of space we3 allocated for the   



message text in ‘msg’ 

3. int msgtype
3. 
Type of message we wish to read 

4. int msgflg
4.
id of the queue , as returned from 



msgget()

a. 1-2, 2-4, 3-3, 4-1

b. 1-4, 2-2, 3-3, 4-1

c. 1-1, 2-2, 3-3, 4-4

d. 1-3, 2-2, 3-3, 4-1

67. Using ls –l the description is a s follows state True/ False

1. Links refers to the number of file system links pointing to the file directory

2. Group denotes a collection user who are allowed to access the file according to the group access rights specified in the permission field.

3. Links refers to the number of files stored by the same name in the directory

4. Size is the length of a file, or no of bytes used by the operating system to store the list of files in a directory

5. Name is the physical address of the file stored on the disk

a. 1,2,3,4

b. 1,2,3

c. 1, 2, 4,5

d. 1,3,5

68. Permission may be specified symbolically using symbols(T/F)

1. u(user)

2. G(group)

3. g(group)

4. o(other)

5. O(other)

6. r(read)

7. w(write)

8. x(execute)

9. o(owner)

a. 1,2,3, 4,5,6

b. 1, 3, 4, 6, 7, 8

c. 1,2,4,6,8

d. 1,2,3,6

69. Match the following for the vi editor command

1.  Command Mode
1.
In this mode characters we type perform 



action

2. Insert mode
2.
Used to save shell commands

3.  Last line mode
3. 
In this mode characters we type are 




inserted overwrite existing text.

a. 1-2, 2-3, 3-1

b. 1-3, 2-1, 3-2

c.  1-1, 2-3, 3-2

d. 1-3, 2-2, 3-3

70. Match the following for the vi editor command

1.  :ZZ
1.
Page Forward

2. d$ 
2.
Save File & Quit 

3.  ^F
3. 
Delete to end of File

4.  dG
4.
delete to end of line

a. 1-2, 2-4, 3-1, 4-3
b. 1-3, 2-1, 3-2, 4-4

c. 1-2, 2-3, 3-4, 4-1

d. 1-3, 2-2, 3-3, 4-1

71. Which of the following are True

1. Text input and navigation in emacs is done using commands,  to position the cursor and typing some text

2. Ctrl key is also named as meta key.

3. Text input and navigation in emacs is mostly a matter of using arrow keys to position the cursor and typing some text

4. emacs can run in graphical mode under the X-windows system, in which case some menus and mouse button command mappings are provided.

a. 1,2,3

b. 2, 3, 4

c. 1,3,4

d. 1,4

72.  Match the following

1. lpr
1.
removes the given job from the specified 



print queue

2. lpq
2.
adds a document to a print queue, so 



that the document is printed when the 



printer is available.

3. lpm 
3. 
checks the status of the specified print 



queue, each job will have an associated 



job number.

a. 1-2, 2-3, 3-1

b. 1-3, 2-1, 3-2

c.  1-1, 2-3, 3-2

d. 1-3, 2-2, 3-3

73. State true

1. The write command sends a message to a specified user, provided that the recipient is logged into the file system

1. The write command interrupts whatever you are doing but mail doesnot

2. The mail command sends a message to a specified user, provided that the recipient is logged into the file system

3. The mail command sends a message to a specified user, irrespective the recipient is logged into the file system or not

a. 1,3,4

b. 2,3

c. 1,2,4

d. 1,4

74. Match the following 

1. :w
1. save  file & quit
 

2. :wq
2 . save file

3. :q!
3. quit without saving
 

4. ZZ
4.save file and quit

a. 1-2, 2-4, 3-1, 4-4

b. 1-4, 2-2, 3-3, 4-1

c. 1-1, 2-2, 3-3, 4-4

d. 1-3, 2-2, 3-3, 4-1

75. Match the following in context with the find command 

1. –atime n
1. 
True if filename matches pattern

2. –ctime n
2. 
True if file was modified  n days ago

3. –mtime n
3.
True if file was accessed n days ago 

4. –name pattern
4.
True if the file created n days ago

a. 1-2, 2-4, 3-1, 4-4

b. 1-4, 2-2, 3-3, 4-1

c. 1-1, 2-2, 3-3, 4-4

d. 1-3, 2-4, 3-2, 4-1
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